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MAX-SUM()

1 A[LNE Az widole} gt

2. for i=1 to n

3. for j=i to n

4 sum=0

5 for k=i to j

6. sum=sum+A[K]

7 maxsofar=MAX(maxsofar,sum)
8. return maxsofar
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1 A[LNE Az wjdole} gt

2. for i=1 to n

3. sum=0

4 for j=i to n

5. sum=sum+A[K]

6 maxsofar=MAX(maxsofar,sum)

7. return maxsofar
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MAX-SUM()
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. CUMA[0..n]S =L njgolg} st}

cumA[0]=0

. fori=1 to n

cumA[i]=cumA[i-1]+A[i]

. fori=1 to n

751- 2= oh;]_

for j=i to n
sum=cumAJ[j]-cumA[i-1]
maxsofar=MAX(maxsofar,sum)

10. return maxsofar
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2

3

4. maxsofar=sumA[1]

5. for i=2 to n

6 sumA[i]=max(sumA[i-1]+A[i],A[i])
7.
8.

T 7P 2 s ARHeE oA A g 7
e maxsofar=MAX(sumA[i],maxsofar)
return maxsofar
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13. sum=0
14. for i=mid+1 to right
15. sum=sum+A[i];
16. rmax=MAX(sum,rmax)

17. return  MAX(Imax+rmax, MAX-SUM(left,mid),
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4. for i=1ton

5. if P[i]<=b

6 TOT=TOT-PJi]
7. else

8 TOT=TOT-b
9. if TOT<0

10. Il A Erls
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11. return 0

12. else

13. Il g 7ks
14. return 1
BINARY-SEARCH()
15. max=-oo

16. for i=1 to n

17. sum=sum-+P[i]
18. if P[i]>max
19. max=PJi]
20. if sum<=tot

21. return max
22. left=1

23. right=tot

24. while left<=right

25. mid=(left+right)/2

26. Il T4%% mide $H3|ct

27. Il R¥eF o] FHsl7} 22he RiEIth
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